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7. (a) What are the views of Ayush #ajaj and Gaurav
Datt in financing the increased expenditure in lieu

of health and economic crisis caused by Covid-19

ot

.pandemic? (8)

(b) Elaborate the Mark up rule for setting price of
Petroleum Qil & Lubricant products and sharing
revenue space between Centre and State in context
with DK Srivastava’s. (7)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any five questions. All questions carry equal
marks.

3.  Answers may be written either in English or Hindji;
but the same medium should be used throughout the

paper.
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(a) Describe the expenditure at each stage of the
development process in terms of efficiency and

equity. (7)

(b) “More progressivity implies more deadweight loss™.
Explain this statement and calculate the
deadweight loss of progressive taxation. (8)
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(a) Explain the method for providing goods that
are non-rival in consumption but excludable in
nature. (9)

(b) Assume mobility cost is zero then show how
individual can choose a local authority in which to
reside. (6)
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(a) What are the benefits of Goods and Service Tax
in terms of revenue, productivity and costs?
Explain using Govinda Rao’s approach for
envisioning tax policy. Also, what are progress

and prospects of GST in India. (8)

(b) Critically examine how can Pigouvian Taxation help

to solve the problem of Externalities. (N
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(ii) What is the price received by the producer?

(iii) How much revenue is raised and
deadweight loss? (2+2+3=7)
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5. (a) How do inverse elasticity rule describes an efficient
way to tax the commodities but not an equitable
way? Explain. 9

(b) If the probability of detection is too small explain

the relationship between fine rate and evasion.

(6)
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3. (a) A firm, S, produces steel but also produces waste
that contaminates a nearby river. Steel can be
sold for $10 per ton. The cost [unction of the
stee] firm is given by c(s) = s2, where s is the
output of steel in tons. The level of waste, x, is
related to output by x=0.1s. a fish farm, F is
located downstream and is negatively affected by
the waste polluting the water. Every fish produced
by the farm can be sold for $2. The cost function
of the fish farm is given by cp(f; x) =+ x* The

fish farm has a capacity constraint < 10.

(i) Compute the optimal output of the steel
firm if it makes its decision without any
constraint, Assume now that the firm must
compensate the fishing c¢lub members an
amount $q per unit of waste that is

produced.
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(ii) Compute the optimal value of q. the optimal
steel output and the profit levels of the
steel firms and the fishery.

(iii) Compare the optimal values of part (1) and
(ii), and explain any differences. (9)

(b) Describe the income and substitution effect of an
increase in the interest rate for a borrower. What
does this imply for the effect of eliminating tax
deductibility of interest payments? (6)
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4.  (a) Describe the benefits a bureaucrat can obtain from
an increase in bureau size. Are there any private
costs? (8)

(b) Consider a mineral that is in fixed supply,
Q°®=4. The demand for the mineral is given by
Q¢ =10 -2p, where p is the price per pound and
QY is the quantity demanded. The government
imposes a tax of $2 per pond on the consumer.

(i) What is the price paid by the consumer
before the tax is imposed and in the post-
tax equilibrium?
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